Post Assignments Feedback
Introduction:

This assignment was prepared in order to improve your understanding about limitation of Parallel port communication between two computers. Traditionally it was not possible but now-a-days it is made possible by making some internal modifications in PPI. Considering your course scope, you were supposed to fine the reason why it was not possible in early PPI and answer to the same question was given in handouts. Part (b) was little tricky and confusing but it was included to make it clear the difference between the two schemes BCD and ASCII. Using BCD, we require only 4-bits to store a symbol (advantage) but we can only store digital symbols using BCD (disadvantage). In contrast using ASCII, we require 8-bits to store a symbol (disadvantage) but we can represent all symbols (advantage). 
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	Assignment Solution:

	Part (a)
No, we can not transmit One Byte data at once via PPI between two computers because, at receiver side we do not have 8 wires that’s status can be read by PPI interface. We can only write on 8 data lines of parallel port and the same can be read by printers but not by computers. PPI has no such internal mechanism to read data from these 8 data lines.

Computer’s PPI has only have 5 status lines through which it can receive feedback from printers i.e. ACK, BUSY, PE, SLTC, ERR. For communication between two computers we can choose any 4 of these 5 lines for data (nibble) transmission and use the fifth line as control line. 

Thus, we can NOT transmit One Byte at once via PPI between two computers.

Part (b)

	S.No.

Given Number

Required memory (Bytes) in ASCII

BCD representation in Hexadecimal format

Required memory (Bytes) in packed BCD

1.

0x123456 (in Hexadecimal)

7-Bytes

0x1193046

4-Bytes

2

123456     (in Decimal)

6-Bytes

0x123456     

3-Bytes

Brief explanation: 

0x123456 is converted into Decimal which is equal to 1193046 and if we store this number using ASCII encoding scheme then it will require 7-Bytes of memory. 

Decimal and BCD in Hexadecimal has same representation, we just introduce 0x as prefix to indicate that its hexadecimal representation. 

In Packed BCD format, we can store 2 digits per bytes therefore its memory requirement is Half as compared to ASCII.

Note: Byte is allocated as a whole, not in the form of bits/nibble. Part (b) Q#1, packed BCD has 7 nibbles which requires 4-Bytes for its storage. 



	

	Common Mistakes & Explanation:


	Mistake 1:  Most of the Student gives answer to questions in Part (b) as below

S.No.

Given Number

Required memory (Bytes) in ASCII

BCD representation in Hexadecimal format

Required memory (Bytes) in packed BCD

1.

0x123456 (in Hexadecimal)

37 hex

0x123456 hex

4bytes

2

123456     (in Decimal)

36 hex

0x1E240 hex

3bytes

Many solutions were found resembling with slight modifications and it seems that were taken from the same source e.g. many students gave same wrong answers to four out of the six questions in Part (b). One possible reason of this could be that they might have copied from same source and all went wrong.


